Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND TOOL
TREE

Appendix C — Part Number
Reference and Tool Tree

Use the GSP Part Number when ordering items. The Part ID Number may be noted
on the item and is a helpful cross-reference when determining correct part numbers.

GSP Part | Part ID Description

Number | Number

P81629A 301056-08 Reciprocating knife tool - 0.090 stroke / 7,000 rpm (standatd)
P81630A 301056-09 Foam knife tool - 0.250 stroke / 1,750 tpm (option)
P81631A 320537-02 Drag knife tool - Foamcore (option)

P81632A 320143-01 Felt marker tool - holder assy (option)

P81633A 320537-00 Micrometer knife tool (option)

P81634A 320143-00 Pen tool - holder assy (option)

P81635A 320537-01 Precision knife tool (option)

P81855A 320401-00 Light Duty Router tool (standard)

P81857A 320140-04 Sword blade tool - holder assy (standard)

P81858A 320144-01 Creasing tool - wheel holder assy (standard)
P81859A 320541-00 Spting loaded knife assy (standard)

P81637A 320193-07A Mat - 48" x 120" Poly Vacuum (M3000 / M1200)

P81638A 320216-03 Mat - 68" x 48" x 3/16" Thick felt (M1200)

P81639A 320216-00 Mat - 76" x 124" x 3/16" Thick felt M3000)

P81837A 320186-02 Mat - Texon (M1200)

P81838A 320186-00 Mat - Texon (M3000)

P81640A 320542-01 Mat - Needled Polyester Green (M1200)

P81641A 320542-00 Mat - Needled Polyester Green (M3000)

P81642A 910246-16 Knife - #16 Hobby Blade

P81643A 914647 Screw - For collet #8-32 x 0.187 cup point - Bristol Head
P81839A 320556-00 Knife - 30 degree vinyl cutting blade

86

https://www.china-oyea.com/



Shenzhen Oyea Machinery Co., Ltd.

TREE

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND TOOL
GSP Part | Part ID Description
Number | Number
P81646A 910246 Knife - Blades #11 (box of 100)
P81647A 301439-01 Knife - 11066 (Matl = Micro grain Carbide)
P81648A 301439-02 Knife - (2.38 knife edge, Matl = Sub-Micron grade Carbide)
P81649A 301439-06 Knife - (2.88 knife edge, Matl = Sub-Micron grade Carbide)
P81650A 301439-07 Knife - (3.38 knife edge, Matl = Sub-Micron grade Carbide)
P81651A 301439-12 Khnife - 2" High Density Foam Blade
P81652A 301439-05A Knife - 2.38 knife edge, Carbide, Teflon coated
P81653A 301439-06A Knife - 2.88 knife edge, Carbide, Teflon coated
P81654A 301439-08A Knife - 3.38 knife edge, Carbide, Teflon coated
P81655A 301439-13 Knife - 3/8" Plastic Cotrugated
P81659A 910246-03 Knife - Blade (30 deg) Carbon St (0.026thk) #8-A
P81660A 910246-01 Knife - Blade (45 deg) Carbon Stl (0.025thk) #8-B
P81661A 301439-04 Kanife - 15mm Tti-wall
P81662A 300526-21 Knife- 30 deg edge - (Matl = HSS M2)
P81663A 300526-22 Khnife - 45 deg double bevel edge - (Matl = HSS M2)
P81664A 300526-16 Knife - General purpose - (Matl = HSS M2)
P81665A 300526-29C Khnife - Point on centerline, 30 deg
P81666A 300526-24C Knife - Point on centetline, 45 deg
P81667A 911972 Wrench - Spline Head, Size: .096, Short Arm, 6 Flute
P81668A 301439-14 Knife - Sword 60 Degree, Double edge, Double tip
P81670A 914967-00 Router Bit - .047 CED .18 CEL.125 Shank 1.5 OAL, 2 Flute
P81671A 914967-01 Router Bit - .062 CED .18 CEL .125 Shank 1.5 OAL, 2 Flute
P81672A 914967-02 Router Bit - .094 CED .18 CEL.125 Shank 1.5 OAL, 2 Flute
P81673A 914967-03 Router Bit - .125 CED 50 CEL .125 Shank 1.5 OGL - 2 Flute
P81674A 915239-03 Router Bit - 1/8 Shank (3317A)
P81675A 915239-05 Router Bit - 1/8 Shk 1/16 CED 3/16 EL
P81676A 915239-04 Router Bit - 1/8 Shk 1/16 CED 1/4 EL.
P81677A 915239-06 Router Bit-1/8 Shk 1/8 CED 1/2 EL
P81678A 915239-07 Router Bit - 1/8 Shk 1/8 CED 1/4 EL

87

https://www.china-oyea.com/




Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND TOOL
TREE E

GSP Part | Part ID Description

Number | Number

P81679A 915239-02 Router Bit - 5mm Shank, 1.5" L

P81680A 915239-01 Router Bit - 5mm Shank - 70 mm L

P81681A 915239-00 Router Bit - 5mm Shank - 60 mm L

P81682A 910390-00 Pen - Refill Black

P81683A 910334-00 Pen - Refill Blue

P81684A 320170-07 Shoe - Router Chip Extraction Shoe Assembly

P81687A 303415-02 Collet - Carbide blade (0.25 x 0.062)

P81688A 303415-03 Collet - (.022) For #11 blade

P81691A 911686-00 Marker - Plastic felt tip cartridge (black)

P81692A 320152-07 Shoe - Small adjustable peelcoat and folding carton
P81693A 320152-04 Shoe - Small adjustable peelcoat and folding carton, nylatron
P81694A 320152-06 Shoe - Small (Tti-Wall, UHMW Poly.)

P81695A 320152-02 Shoe - Small (UHMW Polyethylene)

https://www.china-oyea.com/



Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System

TOOL TREE

ASSY AR KNIFE, 7,000 RPM
090 STROKE  (+.045)
30105608

OPTIONAL

ASSY AR KNIFE, 7,000 RPM
032 STROKE  (+.016)
30105611

ASSY AR KNIFE — 7,000 RPM

.090 STROKE  (+.045)
301056-08

&

A-303415-06 COLLET (.045)

2x 914647 #8 SPLINE HD SET SCREW

R —
910246-04 CUTAWL #7

911972 WRENCH
E::::::::JJ (6) SPLINE .096

A=303415-02 COLLET (.25 X .062)
2x 914647 #8 SPLINE HD SET SCREW

L =
A301439-01 CARBIDE KNIFE
A301439-13 PLASTIC CORRUGATED KNIFE

&

A-303415-03 COLLET (.022)
2x 914647 #8 SPLINE HD SET SCREW

=
910246 22 1/2° KNIFE BLADE

911972 WRENCH
::::::::::jﬂ (6) SPLINE .096

A=303415-02 COLLET (.25 X .062)
2x 914647 #8 SPLINE HD SET SCREW

L
£302171-02 CARBIDE KNIFE 3/4" TRI-WALL
A301439-13 PLASTIC CORRUGATED KNIFE

&

A-303415-03 COLLET (.022)
2x 914647 #8 SPLINE HD SET SCREW

=~
910246 XACTO 11

&

A-303415-05 COLLET (.043)
2x 914647 #8 SPLINE HD SET SCREW

L
91024605 CUTAWL #11

Flatbed Cutter - PART NUMBERS AND

https://www.china-oyea.com/

89



Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND TOOL
TREE

910390 BLACK PEN REFILL

911686 BLACK FELT PEN REFILL

910334 BLUE PEN REFILL %/

A320143-00 PEN HOLDER ASSY B320143-01 FELT PEN HOLDER ASSY

(OPTIONAL A320143-02, —03)
(2nd & 3rd PEN HOLDER ASSY)

https://www.china-oyea.com/



Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND
TOOL TREE

A-303415-02 COLLET (.25 X .062)
2x 914647 #8 SPLINE HD SET SCREW

[

B301439-02 KNIFE — 2.38"
B301439-12 KNIFE — 2" HICH DENSITY FOAM
B301439-05 KNIFE — 2.38" (TEFLON COATED)

B301439-06 KNIFE — 2.88"
B301439-08 KNIFE — 2.88" (TEFLON COATED)

B301439-07 KNIFE — 3.38"

ASSY AR KNIFE — 1,750 RPM

250 STROKE  (£.125)
301056-09 C:::)

A=303415-04 COLLET (.25 X .093)
2x 914647 #8 SPLINE HD SET SCREW

911972 WRENCH
E::::::::iﬂ (6) SPLINE .096 ey
B302967-00 SERRATED KNIFE — 2"

B302967-01 SERRATED KNIFE — 2 1/2"
B302967-02 SERRATED KNIFE — 3"

911972 WRENCH
::::::::jﬂ (6) SPLINE .096

A-303415-03 COLLET (.022)
2% 914647 #8 SPLINE HD SET SCREW

=_—~
910246 XACTO 11
ASSY AIR KNIFE — 5° BEVEL — 7,000 RPM
090 STROKE  (.045) —
30105610 A300526-35 MODIFIED XACTO #11

B320385-00 BLADE ALIGNMENT TOOL

https://www.china-oyea.com/



Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System

TREE

7

=

91525900
915259-01

915239-03
915239-04
915239-05
915239-06
915239-07/

Flatbed Cutter - PART NUMBERS AND TOOL
915036—-00 5" COLLET
915037-00 %" COLLET
915035-00 SMM COLLET
915035-01 S5MM COLLET
915055-02 oMM COLLET
N \ 1

5MM, 16MM CEL 1 FLUTE 'O" GRIND
5MM, 30MM CEL 1 FLUTE 'O" GRIND

)5,
)5,
%,
%5,
%,

520405 LIGHT DUTY ROUTER OPTION

(B320401 LIGHT DUTY ROUTER)

(C320440 CHIP EXTRACTOR ASSY)

%e CEL 1 FLUTE 'O’ GRIND

He CED, Yo CEL 1 FLUTE

Ve CED, #s CEL 2 FLUTE SPIRAL
¥, CEL 2 FLUTE SPIRAL

Yy CEL 2 FLUTE SPIRAL

https://www.china-oyea.com/



Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND

TOOL TREE

NOTE — USE WITH TOP WHEELS - B-301283-02,-03
NOTE — USE WITH BOTTOM WHEELS — B—-301292-02,-03

Jai
O o
g
=)

A320144—-00 FOLDING WHEEL HOLDER

L g

A320144—03 FOLDING WHEEL HOLDER
(1/2 DIA WHEEL ASSY)

NOTE — USE WITH WHEEL ASSYS — A-320315-00,-01

A—320141-00

A—320141-01
NOTE — USE WITH WHEELS

A—320141-04
A—320141-05
o
O
o
=)
A320144—-01 CORRUGATED WHEEL HOLDER
o
O
o
=)

A320144-04 PLASTIC CORRUGATED WHEEL HOLDER
"HIGH FORCE USING Z—AXIS"

Seo 8

A—=320141-02

NOTE — USE WITH WHEELS

A—=320141-03

o
o
o o

A320144-02 TRI-WALL WHEEL HOLDER

[}

https://www.china-oyea.com/



Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND TOOL
TREE STANDARD

NOTE — USE BLADE B300526-16 GENERAL PURPOSE (3/16" DIA)

o ==

=)

A320140-02 3/16 DIA BLADE HOLDER

OPTIONAL

OPTIONAL BLADES FOR STANDARD A320140-02 3/16" DIA HOLDER
B300526-17 THRU -32 AND -36 THRU -38

o

fram

=
A320140-00 1/16 x 1/8 BLADE HOLDER
NOTE — USE BLADE A-300526-33

(2x 914639 SHCS #5-40 X 3/8)
(911642 T-HANDLE WRENCH #5)

OPTIONAL

NOTE — USE BLADES
(.025 X 320 MAX)

7] 910246-03 (GRIFHOLD #8-A)
910246-01 (GRIFHOLD #8-B

(=]
o —F

=)

A320140-01 .025 x .320 BLADE HOLDER

(2x 914639 SHCS #5-40 X 3/8)
(911642 T-HANDLE WRENCH #5)

320538—-00 BOX CUTTER KNIFE OPTION

Q
[N
- ©

A320142—00 SLITTER BLADE HOLDER (TRI—WALL)

e

A320142—01 BEVEL BLADE HOLDER (TRI—WALL)
NOTE — BOTH USE WITH BLADE 910246-11 g

* NOTE — BOTH HOLDERS REQUIRE
A320145 DRAWBAR ASSY

https://www.china-oyea.com/



Shenzhen Oyea Machinery Co., Ltd.

GERBER M Series Cutting System Flatbed Cutter - PART NUMBERS AND
TOOL TREE

o
B301439-14 Q
80 DEGREE
910246—-16
SWORD BLADE ° #16 HOBBY BLADE
— 320556—00
30 DEGREE
BLADE
(4x 914639 SHCS #5-40 X 3/8)
(911642 T-HANDLE WRENCH 45)
B320140-04 SWORD B320541—00 SPRING
DRAG KNIFE HOLDER LOADED VINYL KNIFE 320537 MICROMETER KNIFE OPTION
(THIN PHENOLIC) (VINYL) B320140—03 MICROMETER DRAG KNIFE

https://www.china-oyea.com/



	Copyright Notice
	ICON KEY

	IMPORTANT SAFETY INSTRUCTIONS
	SAVE THESE INSTRUCTIONS
	Floor Plan 
	Preparation

	External Inputs and Connections
	Setup requirements
	Vacuum Blower
	Contact customer service to be sure the vacuum pump is shipped early.
	Automatic Blower Operation

	Pneumatic
	Electrical
	Electrical Domestic
	Electrical Europe
	Network

	Vacuum Blower
	Dimensions

	Shipping and Handling
	Access
	Arrival
	Labor requirements:
	Loading Dock
	Fork Lift
	Uncrating
	Tools

	IMPORTANT SAFETY INSTRUCTIONS
	SAVE THESE INSTRUCTIONS
	DANGER
	Operational Features
	Main Power Disconnect
	Operators Panel
	Safety Beam
	 The power on button will not work if the beam is not clear.

	Hand Controller
	File Preparation Software
	Frontend Software
	ART Path Software


	Warning labels
	Handling the warning labels
	Warning labels on front of cutter
	Warning labels on side of cutter
	Warning labels on back of cutter
	Warning labels on top of cutter

	Operation procedure labels
	Operational labels on front of cutter
	Operational labels on side of cutter
	Operational labels on back of cutter
	Operational labels on top of cutter

	Theory of Operation
	Referencing the Machine
	Referencing is required before the machine is operational.

	Laser Pointer
	Blade Calibration
	Run Time Settings
	Pausing
	Automatic Tool Scanning
	Navigating
	Scrolling
	Selecting
	Editing

	Hotkeys
	Menus
	Power-Up
	Reference
	Main Menu
	No Power
	Manual Movement
	Origin
	Vacuum
	Run
	Pause
	Go To
	Setup
	Test Cut
	ICON KEY


	Opening a CAD File
	 Frontend reads these file formats:HPGL, IPC, DXF, DDES2, CFF2
	Today’s Files
	 Windows Explorer shows all files, not just today’s.

	Open

	Modifying a File
	Rotate
	Mirror
	Scale
	Move
	Step & Repeat
	All of the previous editing features apply to the entire file if no groups are selected. However, if any groups are selected (see page 38), they will affect only the selected group(s).

	Remove Common Lines
	Sequence Slots
	Channel Width Expansion
	Select Single
	Set Color
	Make Group
	Select All Before
	Delete
	Set Origin
	Reverse Direction
	Turn Clockwise / Turn Counter-Clockwise
	Offset Path
	End Select
	Select Group
	Separate groups are created by:Using Step & Repeat (see page 34)Using Make Group (see page 36)Inserting a separate file (see page 38)Pasting in a file or group (see page 39)Drag/dropping a group (see page 39)
	All of these editing features affect only the selected group(s): Rotate, Mirror, Scale, Move, Step & Repeat, Copy.To affect the entire file, End Select Group mode (see below).
	See page 36 for descriptions of these features.

	Set Color
	Delete
	See page 39 for descriptions of these features.

	Drag & Drop
	End Select Group

	Creating a Layout
	Insert
	Cut
	Cut is only available if one or more groups are selected (see page 38).

	Copy
	Copy applies to the entire file if no groups are selected. However, if any groups are selected (see page 38), Copy will affect only the selected group(s).

	Paste
	Drag & Drop
	Save As
	Test Cuts
	Laser Test Cut

	Changing View Settings
	Zoom Window
	Zoom Full Screen
	Zoom Out
	Zoom In
	Zoom Previous
	Material
	Line Types
	Line Directions
	Points as Stars
	Colors

	Changing File Options
	Options
	Optimization
	DXF Filters
	 Frontend will reliably import genuine AutoCAD DXF files saved in R13 or LT format, or earlier. This also assumes it is a basic structural file containing lines, polylines, arcs, circles, and text. Viewports, 3D objects, wire-frames, solids, etc. are not compatible.

	Miscellaneous

	Units
	Language

	Controlling the Machine
	Hand Controller
	 Use caution! Unlike any other functionality in Frontend, buttons on the Hand Controller screen can move the machine.


	Running a File
	The Job Ticket
	Material
	To change a tool’s raise height, see the Daylight tool setting on page 29.

	Settings
	An easy way to select the Settings tab is to click in any column (except Color) of a row in the job listing.
	To activate an unused row in the job listing, first change the Operation to something other than “Off”.

	Color Map
	 Always set the Color Map last.
	An easy way to select the Color Map tab is to click in the Color column of a row in the job listing.

	Saving Jobs


	Making a Crease Matrix
	Tool Head
	 Presser feet also act as a safety guard around sharp blades.

	The Tools
	WARNING
	Reciprocating Knife
	Installing the Reciprocating Knives

	Drag Knife
	Crease Wheel
	Ballpoint Pen
	Utility Blade Tools

	WARNING
	Light Duty Pneumatic Router
	Installing the Light Duty Router tool

	Vinyl Spring Knife 
	Blade Wear
	Installing the Vinyl Spring Knife
	Testing the tool force
	Replacing the Vinyl Spring Knife blade


	Theory of operation
	Creating compatible artwork
	Creating M Series targets in OMEGA
	Exporting print data from OMEGA for use with RIP software
	Saving cut data in OMEGA for use with ART Path
	Exporting cut data from OMEGA for use with Frontend software

	Creating M Series targets in Adobe Illustrator
	Saving cut data from Adobe Illustrator for use with Gerber ART Path
	Exporting cut data from Adobe Illustrator for use with Frontend software


	Testing the sensitivity of the registration sensor
	Adjusting the registration sensor
	Using the MVision-Cut laser registration device
	Scanning errors
	Aligning the visible pointer and registration sensor
	Aligning the visible pointer
	Aligning the registration sensor

	Positioning the Work Piece
	Turning on the Vacuum
	Vacuum Pressure Gauge

	Preparing the Data
	Sending a job to the M Series cutter from Gerber ART Path

	Installing the Tools
	Setting the Origin
	The origin is usually the lower left corner of the substrate for cut jobs and over the first registration dot for print-to-cut jobs.

	Running the File
	Daily
	Weekly
	Monthly
	Yearly
	Adjusting the lubricator
	Adjusting the oil flow


